Topic: Direction Sense
Time: 10min
Paper-Maker Monika Awasthi

Directions (1-4): Rafefea Sardt #1 samgde sregaer iy s = g 13 11 & IS¢
<o,

g A SR E+® 10d sferr & 8. g D, Mg I F 1090 soe # 8. g G, g | F st afaw & 2.
RigF, g G ¥ 20M s # 2 RigA R HF 4R @ §3 fgC, g H ¥ 160 s # 2.
figB, Mg DF 12t afem # 2. Ag F, Fg C % 7@ o § 3w 37 weg o ¥ fig H siw fHg A
T LT 6 el §.

Q1. f9g B 3T E & weg =gaaw T faat 872
(a) 18m

(b) V52m

(c) V50m

(d) 21m

(e) T/ H &S gl

L1Difficulty 2

QTagsDIRECTION & DISTANCE

Q2.Cxuew #, Mg G A Rer & g2
(a) ST A

(b) =fEroryE-

()T

(d) STATITHH-

(e) Eferorafary-
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Q3. Rufeifea vi= # & 9= us [ €7 & us 99 § &k us avyg %1 AHin w1 €, S9
fAweT #T 99 FSA ST 39 99g 9 Gai8q T8 g2

(a) A-D

(b) B-C

(c)G-D

(d)I-A

(e) H-D

L1Difficulty 2

QTagsDIRECTION & DISTANCE

Q4.7fe g S, Mg FF 11 cferor & g v g D e & foig S #r Rear 7w 872
(a) ufarg

(b) =ferorafary-

(c) 37T



(d) =
(e) ITLA-
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Q5. Hrg &g B u¥ ug= & forw g A & o sew #xar g, Mg BT g A% 10 ot @&
g figC, HgBr4 i sfomra g g E, Mg F ¥ 2@ d 8, AgFsifigD*6
T sae ¥ €. fg D, fig C & 5 fanelt 4= & g, &g E 3w 165 C F wew vq7aw ¥ fohaet g2
a)20

()10

(V75

(d)V85

(€)= H H Fls gl
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Direction (6-7): & TE SITHHI FT SATAIAH FEITT < ST = fI@ 10 734 3 S Aiforg—

RizM, Bz Q¥ 7H R i 21 BigF, fig I 5 7 R F 8 3 fig H, BN F 5 sv & 2
Rz, Bz I ¥ 12 2R & 21 fig N, Fig L ¥ 4 i qf 3 31 iz Q, Fiz HF 6 R F 7 )

Q6. 7T fig X, ¥ F & 3 /i afsrww 7 g, ar g X sfit H & weq =gaww o faet g2
(a) 7H#Y

(b) ot

(c) 64T

(d) 8+t

(e) TTH T FIT ARl
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Q7.FgMF a3 ®, g N frg e & g2
(a) T

(b) 37T

(c) zferor 4=

(d) wferT

(e) STTUfH
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Directions (8-10): F=forfea STl 1 samg@® e+ &< oK = faw 13 7o & S
LI L



figA ffgBF 6t afam A g, fig B, g F F 8draferor # &. fAg D, fAigCF 26 Hgd A &.

Rz G, figH ¥ 15M uRm # & fig C, g A¥ S i & fig H, g F R T i ¥ & filg
D, g E ¥ 10 R # 2,

Q8.fig G X fHg F & wex =aaw g |1 8?
(a) 16+t

(b) 10+t

(c) V5t

(d) gy

(e) T7TH & FIE LY
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Qo.fig B F ax+f #, g E i Rar waw 82
(a) ST

(b) =feroT

(c) 31T

CIRIER]

(e) =T & FIS A5l
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Q10. g B ¥ "xw #, &g G #it ~raw & sik Rem w1 8?2
(a) 18m, Zferor-gfsmy

(b) 15m, =2

(c) 16m, ITX

(d) 20, I

(e) TTH T FIT ARl
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Directions (11-12): Ruferfre STl #1 samgde sreaaer HifSrg sz fiw 73 woit % S9e
T,

g Q, FgPx 15t @HegfEg .U, FgVvaedizfemra g g .R, FgSF 18dtafzm # 8.
fH3Q, fgRF 12M s A g g .S, Mg Twedtafomr# g, g T figU F 8 @ # €.

Q11. g T H daxi ®, g P it Rar w1 8?2
(a) =ferorafary-

(b) STTLA-
(c) ITTafara-



(d) =ferorgE-

(e) TH & g TE
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Q12.fdg U & foig R fir =aw T faraeit 872
(a) 8 |t

(b) 7 #t

(c) 12 #t

(d) 10 #t

(e) =TH H FIs Aal
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Direction (13-15): fRufRfa sl 1 eamg@# sreaa fforg sik fi=w R ™ v %
IR DfSm.

iz A e BF 13fiufsm a2 fag D, Mg B F4dfrsfRma g Az .c, MaMF o g & 3.
T, feDF 12 ufam g g .y, feCcr 1edisma g fig .y, Mg AT 2fr ufarm &
2.

Q13.fdg Y 3= T % we =qwaw g Fohaet g2
(a)V18e

(b) 5d%

(c) 7#T

(d) 2+t

(€) =¥ & FIE TEF
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Ql4.FgDF =W #, g Y b fRemr & 8?2
(a) ITTLA-

(b) ¥

(c) ufere

(d) ITTaf=ra-

(e) TTH T FIS ART
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Q15.3f fig K, f&g C & 3+t 7@ # g af &g T ik &g K & wexr ~gmaw & fonat 872
(a) 184t
(b) 12+t
(c) 9tft




(d) 7+t

(e) =TH T FIS ALH
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Solution(1-4):

C 2m F

16m E

B J ‘
—4m 10m

Sol. ¢
S1.Ans(b)
S2.Ans(b)
S3.Ans(d)
S4.Ans(b)

S5.Ans.(d)
Sol.

10 2

NGCET
=v/85 km

Solutions (6-7):

Solutions



12m H om Q
5m
4m 7m
L N
Sol. M
S6.Ans(a)
S7.Ans(e)
Solutions (8-10):
Sol.
G 15m H
17 E
F 10m
C 26m D
8m
5m ‘

A—B
S8. Ans.(d)
S9. Ans.(a)
S10. Ans.(c)
Solutions (11-12):
Sol.

P 15m Q \
6m
12m U—gm—T
6m
R TBm S

S11. Ans.(c)

S12. Ans.(e)



Solution (13-15):

y 2m A 13m B
4m
T 12m b
16m
M 9m C
Sol.
S13.Ans(b)
S14.Ans(d)

$15.Ans(b)



